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BUSINESS MATHEMATICS AND STATISTICS

- Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 carries 1 mark each : | 1x8= 8
Q. No. 2 carries 2 marks each : 2x5= 10
Q. No. 3 carries 3 marks each : 3x5= 15
Q. Nos. 4-10 carry 5 marks each : Sx7= 35
Q. Nos. 11-14 carry 8 marks each : 8x4 = 32

Total = 100
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(2)

1. Answer the following as directed : ' 1x8=8
wore AR TP Tl o
(@) 1 hectare = sq. metre.
, (Fill in the blank)
1@R=___ 3fom!

(413 31 =F9 F90)

(b) 20% profit on SP = % profit on CP.

(Fill in the blank)
(361 MR 84S 20% 1% = ¥ 7T 8o]S % 1S |
(43R 37X * 3)

(¢c) The curved surface area of a cone is
BT TP I T
) 2nrl
(i) 2nrh
(ifi) nr2h
fiv) mnrl

(Choose the correct ansWer)

(% e 3 Tiean)

(d) y-coordinate of a point on x-axis is
) (Fill in the blank)

X-9rF 87T RY R y-TAIRT n
(S 37X o F7)
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(3)

(e) All facts expressed are not statistics.
' (Fill in the blank)
_ OIA oA IR R e Oy iR 7= |

(14 31 <31 3¥90)
(f/ What is a blank table?
R el 1 2
(g) Bar diagram is a dimensional diagram.

(Fill in the blank)
wafba 24 TR f5a | .
(A1 X ==t 391)

-
-

(h) Write True or False :
T (H SpTe) o

logga=1

2. Answer the following questions : 2x5=10
To 2R Ted fore
(a) Simplify :
A ¥9:
(¥285)2)75/8
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(4)
(b) For what value of k, will the point (k, 0) be equidistant
from the points (a, 0) and (-5a, 0)?
AR B 93 I® (&, 0) ﬁﬂic%r (@, 0) &I® (-5a,0) Ry R

IO B’ ?

{c) Find the mean proportion of 50 and 128.
50 W% 1283 T4 FWIeIre! Sfyear |

(d) The diameter and slant height of a right circular cone

are 70 cm and 35 cm respectively. Find its curved
surface area.

<51 %FT IP W TofF Twel T 70 cm WF 35 cm T
PO IF-PR FfT FAefy a1

fe) Find the value of log, V6 +log, J%

logy V6 +log, /2 3 ¥ e 341 1
3

3. Answer the following questions : - 3x5=15
O 2PTIRA Teq fo :

(@) A retailer sells an article at a profit of 20% on SP
If CP is ¥720, find the SP.

G A1 ReaFolz @1 R e ge 20% wres I8 <5 RA 7 |
3 1 7 720 T =, (w3 w1 v Ofdvea |
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(5)

(b) Solve :
AN F90 ¢
3* 3
Or / %1

32x ,9-10.3%

(c) Find the length of the longest rod that can be placed
in a room of 12 ft long, 9 ft broad and 8 ft high.

12 35 TEl, O 5 T F 8 I €4 AT GBS AR oM T
O 9© o o e 3

(d) Show that the points (-2,5), (0,1) and (2,-3) are
collinear.

(&3 @, (-2, 5), (0, 1) =¥F (2, ~ 3) R GFRIW |

(e} The ratio between two numbers is 2:7. If each of
them is increased by 14, the ratio between the new
,numbers obtained becomes 4:7. Find the original
numbers.
WO Y SAS 2 ;7. 2AfSChl RUI[ ATS 14 Qe IR (AR T

WY R SFATS 4 ;7. o It 151 Refg 3041
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(6)

4. Answer either (a) or (b) :
(o) 41 ()3 &S foan -

(a)

(b)

A trader allows his customers 5% discount on list

price. What would be the list price of an article

costing ¥712-50 to make a profit of 331 %?

I ORI T TS T eoe 5% (=R fica 1 33 1 % =Tre
3L 712-50 Bore Rl <R TS 1o R 7'9 2

Find the cost of flooring with square tiles of side
20 cm, each tile costs ¥25. The dimension of the

floor is 4 m x3 m and the cost of labour is 75% of
the cost of material.

4 mx3 m (WT 9% TS 20 cm (=R PR Bizew AR

o1 1 2ifCH! BReTeT T 25 T e RER <95 AR 4909 75%
T P {1 g 3900

5. Answer either (a) or (b) :

(a) S1931 (b) 3 T&x T

(@)

/447

Two mixtures A and B contain glycerine and water
in the ratio 4:5 and 3:2 respectively. How many
litres of B must be mixed with 81 litres of A that
the resulting mixture may contain equal quantity of
glycerine and water?

w1 99 A SIF Be {5k W 1N e T 4:5 WiE 3:2.

81 FBioR A% tre R +fRmiem B fizence gw fere BoRk wie
A SRS SR 2’7 7



(7))

(b) A hemispherical bowl of radius 9 cm is full of water.
This water is to be filled in cylindrical bottles of
diameter 3 cm and height 4 cm. Find the number
of bottles required to fill the whole water of the bowl.

9 cm IPI SLCEIFR *I1 B A 4f 02 9 | R TAREA
3 cm IF IF 4 cm%mﬁﬁ@;g@mﬂm—mtaﬁwﬂﬁ
(ST MY ATAS 297

6. What are the limitations of statistics? 5
oA R ARworTz 3 72 |

Or / 7%

What are the characteristics of statistical data?
AR SRR IREER B R 9

7. Find the ratio in which the line segment joining the points
(-4,1) and (3, 5) is divided by y-axis. 5

(-4, 1) 5= (3, 5) RPRAM @ANe y-=rF1 7R Sgenree Ree =,
fefg a1

8. Prove that 5

I A

4 9 5
2log— +log—+2log—=0
og3 Qg25 og4

/447 . [ Contd.



(8)

9. If lo gT -—(logx +logy), then show that

’Jﬁlogx;y ——(logx+logy), (@ (S A

Or / M3

The diameters of two cylinders are in the ratio 3:2 and

the ratio of their heights is 2:3. Find the ratio of their
volumes.

WWWWWWS:ZWWW’NZMWW
e ey 11 1

10. Write down any five essential characteristics of an ideal
" questionnaire. '

94 ST 2 R I STt et LAty B
Or / 733

Discuss the different sources of collecting secondary data.

a8t ~rfi o wrme IR oA RRde Seopza Ry e =1

11. (a) Solve :
FAIY 91
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(9)

(b) What is the difference between primary data and

secondary data? ' : 4
T O IF (N YR Trers A1F R 2

Or / 1

Discuss the different stages of statistical investigation.

AR Sepre RiSA Tz a1 41 |

12. (@) What is classification? Name the four types of

classification. 4

I 1% 2 5RRY I3 TINCIRB1 Fin |

(b) Discuss the importance of diagrams and graphs in

business and commerce. 4

- - (@Y WIF BT AEEITS! S 9 |

13. (@) Draw a histogram of the following data : ‘ S
o SYPTRA A1 B P I
Class interval| 1 15| 15-20 | 20-25 | 25-30 | 30-35
19w
Frequency 30 55 80 60 45
IR

(b) Define frequency density and percentage frequency. 3
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(10 )

14. The following are the weights (in kg) of a group of
SS students. Prepare a frequency distribution table taking
the width of each class interval as 10. Find also the
frequency density of each class interval :

55 T QR T O ([3.215) woe Smy I WR | ARG 3o
RN RO 1007 949 IRQRSl R ol o@s 3911 AR 9o
SEAER “RRU Tge R 1 :

Weights (in kg) :
ag (3. an.) -

42 74 40 60
53 110 76 84
68 69 104 80
49 84 76 42
52 103 96 51

82
S50
79
64
86

115 41

67
54

69

78

78
73
70
94

61
77
59
80
71

75
63
81
72
79

83
65
100
0
77

From the above table, calculate the following :
T e *{1 ©ere A e i

63

95

66
79
90

4+2+1+1=8

(@) Percentage of students whose weights are less than

80 kg

80 .17 *"1 I @FY QAT XoFqT TR

(b) Percentage of students whose weights are between

(76-105) kg

(76-105) f¥.41. @& QAT *oF<1 7]
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(11)

Or/ %W

What is tabulation? What is the purpose of tabulation
of statistical data? Prepare a blank table showing
the distribution in two industries according to the
following characteristics : : 2+2+4=8

- ofRRRT B AfeRi®m ouR ofRrer S R @

S fdR 3BT (RS were T LB eore Ry
IR 93 AR O 0TS 0

(i) Sex (M/F)
fort (o /=fem)
(i) Marital status (married/unmarried)
i v (RaRer/wRaRe)
(iii) Literate/llliterate
T e/ wRfre

% % K
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